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. _16-9 7
T +at 1649 25

Find the radius of a sector whose arc length and area are 27.5 cm and 618.75 cm?
respectively '

A) 35 cm - B) 25cm

M 45 cm @) 55 cm

aflevedlarr Bamib 27.5 Q&.18, LrliveTe) 618. 75 #.Qs.8 QanarT cul_L & Camewril u@ﬁuﬁ]&r <SLLD HITET0T.
A) 35 Q&8 v B) 25Qs.8
(©)  45Q@s.8 ' . (D) 55Qsa8
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Solution  Given that /=27.5 cm and Area = 618.75 cm®. So,

Area = 1’2—’" ~ 618.75 cnp?

275%r
: )

—

T =45 cm

=018.75

i.e

If 15% of x = 20% of v then find x : ¥
@A 3:4

(®)] 17 - 16

ac —s'crr- 152 = v -eo1 20% eresTled X : Y SITGHoT.
A 3: 4 ’ N
© 17 : 16
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Given,a =9, b=7
a—b 9-7
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a+b 9+7 16
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How many diag_onalé are there in a polygon of 15 sides?

(A) 30 (B) 70

(© 120 BT 90

15 usshIsSEr GasTaTL. ey CamanrsHm (S cTEHFHMETT eLpenaLadl L BISET 2 6ITemes ?

A) 30 B 70
(©) 120 . » (D) 90

The number of diagonals of an n-sided polygon is:
nn-3)/2
Here, n=15

15x12

No.of diagonals = = — - 90

Examples:
* a3 square (or any quadrilateral) has 4(4—-3)/2 = 4x1/2 = 2 diagonals
» an octagon has 8(8-3)/2 = 8x5/2 = 20 diagonals.
* 3 triangle has 3(3-3)/2 = 3x0/2 = 0 diagonals.

Greatest Common Divisor of 924 and 105 is

<5 21

(®)) 24

924 whomib 105 @ et EUQUIs Quimss) e@ds
A 21

{®)) 24

i. Find the prime factorization of 924
924 = 2 % 2 % 3 = 7 x 11

Find the prime factorization of 105
105 =3 = 5 % 7

To find the gcf, multiply all the prime factors common to both numbers:
Therefore, GCF = 3 x 7

GCF = 21
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The L.C.M of three different numbers is 120. Which of the following cannot be their H.C.F X
@A) 8 2

o ® 12
© 2u - - W %

eweny QaucuCeupran eraimaaflan 18.8.10 120 erafled Sipsaam_aupmen o) SieiQaamaaian B.GLm

2l0e?
@A) 8 | B) 12
€ 24 D) 35

H.C.F. of numbers divides their L.C.M. exactly.
Clearly, 35 is not a factor of 120.

Given below are two series with specific pattern

7 13 29 53 113 217
5 (@ (b (© @ (e

What will come in the plate of (e)?
®B) 171
(D) 151
&C Qarmssuul_merer, GMUAL L o S8l &@EpL e G%qu_.u_l @ Qsrisafle, (e)-ar L sramrs.

7 13 29 53 113 217
5@ ® © @ ©
A 173 ' y B 171
(©) 153 - ®) 151
(7x2)-1=13 (13x2)+3=29  (29x2)-5=53 (53x2)+7=113 (113x2)—9=217
(5x2)-1=9 (9x2)+3=21 (21x2)-5=37 (37x2)+7=81 (81x2)—-9=153
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The sides of the triangle are in the ratio 3 : 4 : 5. The measure of the largest angle of the

triangle is

@A) 60°

© 120°

@m wiGsnansdler LGsmsar 3:4:5 craip fss5Hd o dterg erafles wigen BlaLGLMu
G&nwé,@s&r SleTa| wWrgl? ‘ ’

Ay 60° B - 75°

© 120° - @®») 150°

Largest angle of the triangle =

190 5= 18055950
12

—X
3+4+5

A certain sum of money amounts to T 8,880 in 6 years and T 7,920 in 4 years respectively.

Then its principal is

A % 17,500 M? 6,000

(C) T 8,000 (D) T 4,530

@M GO é{ga)rrmgj 6 gam@aseies T 8,880 ysayb, 4 yam@hsafleo T 7,920 ysea|b

wrmiflng eraflev .:9{&6'\9 GTeITLIg
A) % 7,500 B) T 6,000

«©) ¥ 8,000 D) T 4,530

Explanation

Amount at the end of 6 years Principal + interest for 6 years
P+ I, = 8880

Amount at the end of 4 years Principal + Interest for 4 years
P+1,= 7920
8880 — 7920
960

Interest at the end of 2 years <960

960
2

480

Interest at the end of 1st year
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Interest at the end of 4 years 480 x 4
1,920
P+1, 7920
P+ 1920 7920
P 7920 — 1920
P 6,000

Principal 6,000

A person gets Rs. 50,000 (Fifty thousand) as loan with interest rate 4% p.a. from a bank. If

the interest is calculated year wise, then the compound interest, after two years, is
(A) 4,000 ‘(B) 2,000

© 2,080 P 4,080

g_)@jmr‘r gl el 4% eranm m. 50,000 (gousmudpb) cumduladmhg sLemms QuUmSDTT.
@ H&EsTm perm e lg SamEALLTeD, @rar(h parhHser sflsg Seum sl Cauamgw sl
QUL wimeng) | :

(A) 4,000 B) 2,000

(©) 2,080 (D) 4,080

When interest is compounded annually:

R 1" R 1"
Amount=P |1+ — =>Cl=P|1+— - P
[ 100} [ 100}

P=50,000 R=4% N=2 years

C.l= 50000><%><ﬁ —50000
100 100

=54080—-50000 =4,080Rs
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What percent is 15 paise of 2 rupees 70 paise?

5% €2y

w5 539 S

9
2 epuumua 70 enuismaller 15 emuism erHssement &gaﬁgﬁj}’?
@2V 5% €=y

5 4 '
Dy 5o % _ )

2 rupees 70 paise (2 x 100 paise + 70 paise)
200 paise + 70 paise
270 paise

LS w100 =

Required percentage 370

Sanjay bought a bicycle for Rs. 5,000. He sold it for Rs. 600 less after two years. Find the
loss percentage. -

A 10% ’ - B) 14%
©) 8% . & 12%

e G cuamgenw m.5,00065@ eumridlarmt. Qream® 6u(HL s EHEEL ﬁg)@ .600 @onss)
Apmir. erafled pLL s56555mS5E SHetr. A '

@A)  10% B) 14%

© 8% : D) 12%

Explanation

C.P =5000 Loss = 600 S.P =5000-600 = 4400

Loss% = @xlOO =12%
5000
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15% of 578 + 22.5% of 644 = 2
A) 231.4

(©) 231.8
5786 15% + 6446 22.5% = ?
A) 231.4

©) 231.8

Explanation

9 __ 15x578 4 22.5x644
100 100

=66.70+ 144590 =2316

If x =2+ 44/3, then the value of .'x:—a—l is
a

K 2Jz
< 2

x =2+ 43 ereoilev x+i—6&r oSl
x

A 202
© 2

11 2f2\/_2_ﬁ
x2+\/_2\/_

x+—=2+\/§+2—\/§:4
X

Calculate the perimeter of a quadrant of a circle of radius 21 cm.

(A} 65 cnis B 75 cm

(O 44 cm (D) 88cm
21 Q&aS yaperer sreveut Lt LGS uies SHDETey &Tes

(A)  65Q@ai8 B) 75 Qa8
(C) 44Qs&.8 (D) 88QsiS

Explanation
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Given:  Radws of a circle, » = 21 cm
Perimeter of a quadrant, P (£ +2)r units

g e
O

=

_ (22 g
= |75t 2X2=(p2)x2

— 22"‘28 qlzﬂ ’}l
v L TR

=75 cm.

Find the value of 55 x 56
A) 3800
& 3080
Sl smeor : 55 x 56
(A) 3800 ‘
© 3080

Ans: 3080

The ratio of two numbers is 3 : 4 and their L.C.M is 120. The sum of numbers is
\u( 70 (B) 140
© 35 , . ' D) 105
@ cramaation elldlsb 3 4 CGugyb 2euedl(p eramenflen WEdm wéiin 120 erafler ieueii(m eramraafien
g (HQsrens eremLigy) ‘
A - 70 (B) 140
© 35 (D) 105

Let, Numbers are 3x and 4x
LCM of (3x and 4x) =12x =120 = x =10
Required Sum =30 + 40 =70
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Pipe A can fill a cistern in 4 hours while pipe B can empty it in 6 hours. If both of them are
opened together at the same time when the tank is empty, the number of hours taken by
them to fill it is A

A 6 v ®B) 8

© 10 | W 12

@m Bidsrigow @erd A aflurs B @ Hriyd Crrsde 4 wenfl Crrb wdng. <iCs
Crrsder Gri B ez 6 warfl Corsdled Qsmiiyemw Bir @damod dnbg 66 srel Celifps.
@Cr Corsde @rem@Co HpssiiulLmd QAsmigsredlurgh woy @do assmern wafl Cryb

Qamiiyerw Blyiud vweTuHILD eTeTUmS Sam)

A 6 B) 8
© 10 4 D) 12

l—l 1 — l—l:>T0tal=%=12hours

A B Total 4 6 6-4

20.

A man bought an old bicycle for Rs. 1,250. He spent Rs. 250 on its repairs. He then sold it
for Rs. 1,400. Find his gain or Loss percentage

W Loss6.67% (B) Gain 6.67 %
(C) Loss 20 % (D) Loss6%
@ BUT e uampw B Gueéurqem@, m. 1,2508@ eumadlermi. é{gmm Su@®ss . 250 Qeeay
Qawgmr. e gmar . 1,4008@ eDOTT. Deu@mELW @TUD SHOOF BLLEMS STERT.
(556555815 | |
(A) 6.67% Bl B) 6.67% emud

©) 20%plLb ' (D) 6% plid

Explanation
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Cost Price of the bicycle 31,250
Repair Charges 3250
Total Cost Price 1250 + 250 =%1,500
Selling Price 31,400
CP S.P., there 1s a Loss
Loss Cost Price — Selling Price
1500 — 1400

100
Loss <100

Percentage of the loss Iéﬂf)s x 100

100
7500 x 100

20
3

6%% (or) 6.67%

6.67%
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Three dice are thrown simultaneously find the probability of getting Triplet in all three
1 \)B,( 1
A - - .
G 16 36
1 ' 1

© 596 D) 24

epeTm LIsL&6T Gy Crrgdle 2 (pl L i@ dlearmer. epatdlanib Cr erer flenL_&5 Hlahsse| sreamms?

L B) =

16 36

1 1
© 516 » D) o

When three dice are thrown, the sample space contains 63 = 216
events. So, n(S) = 216.

Of these (1,1,1),(2,2,2), (3,3,3),(4,4,4),(5,5,5) and (6,6,6) are triplets
which are 6 in number.

Therefore, the probability of getting a triplet = 6/216 = 1/36.

22.

7 men can complete a work in 52 days. In how many days will 26 men finish the same

work?

‘U/ 14 B) 35

) 28 D) 26

7 L seT @ Couamavenws 52 prsaflédy Qauig) iy sdlapent. G5 Couameenws 26 L s6T érggmm

prlsafléd Qag g liumT&er?
@ 14 : (B) 35
© 28 D) 26

Tx52

=14 days
26 Y
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A man’s wages were decreased by 50% and the reduced wages were increased by 50%. He
has '

(A)  no profit and no loss
(B) alossof 0.25%
(C) alossof25%

\M a loss of 25%

emauflar sl 50% Gammssuu@dng. Yerant, Gampasasiul L sgmalule 50% cﬂ;@&fﬂ&;&;uu@é’lm@
eTafled U HEES;,

A) Qerueb Gaeame BLL AP Gaame

(B) 0.25% mpLLid

©) 25%plim

(D) 25% L

Explanation

50—50—M =-25%
100

Loss = 25%

What must be added to ] to make it equal to x ?
. x .

(A) ;‘ti | ® =

x —
©) xZ2 +1 \M a2

x

1 -2 L_GbT TN S Jal g TMed {HeoT oSl X ereot Slewl_&@GHLDd
s

(A) x—1 ' _ ®) x +
x+1 -

x
2 : 2
x° +1 s o
= ® —
o o

«©

Explanation

Let, Number be k.
1 1
—tk=x=>k=x——
X
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The HCF and LCM of two numbers are 13 and 1989 respectively. If one of the number is
117, then determine the other

B) 131
D) 231
@Qras® eramsafian B.Qur.eu (HCF) womb B5.8.0 (LCM) dwemeu apepGu 13, 1989 ererimy
2 aeng), Hed e eramranfler iy 117 erafled D@ erarTanfle 1L smevr
A 121 ‘(B) 131
(C) 221 ' (D) 231

First number x second number = LCM x HCF

198913 N 1989
Second Number = 117 9

=221
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